No Cooling Unit 1

-50 0 50 100 150
Position on the rim (cm)
No Cooling Unit 2

ors

00 -50 0 50 100 150
Position on the rim (cm)
No Cooling Unit 3
00 -50 0 50 100 150

Position on the rim (cm)

No Cooling Unit 4

00 -50 0 50 100 150
Position on the rim (cm)
No Cooling Unit 5
00 -50 0 50 100 150

Position on the rim (cm)

3T =

Cooling Unit 1

-50 0 50

Pasition on the rim (cm)
Cooling Unit 2

-50 0 50
Pasition on the rim (cm)
Cooling Unit 3

-50 0 50
Position on the rim (cm)

Cooling Unit 4

-100 -50 0 50
Pasition on the rim (cm)

Cooling Unit 5
-100 -50 0 50

Pasition on the rim (cm)



